2018 EFER SR IEESRMSE, T —20, B 1 -2 EB4E, T— 1 BHYET. FLEL2BMNETISHLAHSBETT, HIE DA
4ﬁ 5H 6H 7H 5H iz
-3 CF 3 =3 L3 3 FE =3 FE o3 FE o3
1|8 %#JF%% 1| X |EKB 1| £ BlsrsE&A | 1 | B |BEAUPHE 1| K |ZHES 1| £ RAHR
2 | A 2 | K (KR 1ERHN 2 | £ 2 | B |#A& ATEQ 2 | K 2 | B [EKHE
3| K 3 | K [EHRB BZiEcs @ | 3 | B [EHKHE 3 | X 3 | & 3| A
4 | K 4 | € |EHKA ER0o @ | 4 | A 4 | K 4 | £ 4 | K
5 | K 5 | £ |EKHB ZELD @ | 5 | X 5 | K 125K 5| 8 5 | K
6 | & [FFEEIBE |FFEH 6 | B [FTEIOT* 6 | Kk 6 | & |8 EE% 6 | A 6 | &K
7 | £ 7 | B |eosmesams 7 | K 7 T AR Ea& 7| X EERE 7| %€
8 | B |[EkB 8 | K 8 | £ |B5I%HR 8 | B |EHKB 8 | K gme-mawR| 8 | &
9| A AZH 9 | K 9 | & 9 | B |S3EH#E |IREKE 9 | K 9 | B |EHKH
10 | X (B51%B |1EF&ET | 10| K |B51%H 10 | B |EKA 10 | X [B3I%B 10 | & |B51%H 10 | A |B51%H
1| K 1| % 1| A 11| K 1| |EfRKE |(lLoB @ | 11| X
12| K 12| £ 12 | X 12 | K 12 | B |E8KE 12 | K
13| & 13| B [RBEK 13 | K |FTEA@T X 13| & 13 | A [EfAKRE 13| K
14| & 1- 25 2447K| 14 | B 14 | K 14| £ HEPHRR 14 | K |BEARE 14| &
15 | B |EKH 15| X 15 | & [EHA BER0OE @ | 15 | B |EHKA 15 | K [EEARZE 15 | £ ok N
16 | A 16 | K 16 | = 34 GTEC 16 | A |EKB BOH @ |16 | K 16 | B |EAKH
17 | % 17 | & 17 | B |[xeern 17 | % 17 | & shmms | 17| B [L2PFAR lgzol @
18 | K 18| & 18 | A 18 | K 18| = FREBAS | 18 | X REAKHE
19 | K 19| £ 19| X 19 | K 19 8 19 | X
20 | £ 20 [ B |[KBRK 20 | /K 20 | ® 1FHE.T | 20| A 20 | K
21 | SFERARRA| 21 | A AT HA 21 | K 21 | £ |[12xEmaE 21 | X 21 | £
22 | B [E#KRA 22 | X 22 | & KER 22 | H 22 | K 22 | =
23 | A 23 | Kk 23 | = 23 | H H1zozv7—| 23 | K IE A AEA| 23 | B [EAKH Mon @
24 | K 24 | K A% R 24 | B [{ABBK 24 | K $4To2v7—| 24 | & 24 | B |3t me [IRBIAE
25 | K 25 | & 25 | A 25 | K 25 | £ 25 | X
26 | K 26 | RENH 26 | K 26 | K 3ERE~Y | 26| B 26 | 7k
27 | & [315%8 27 | B |EHAB SEEEEE| 27 | K BT 27 | & 27| A 27 | K
28 | £ |GWIKZ 28 | A =R =] 28 | K 28 | = 28 | K |EHEERT 28 | € |51%H
29 | B |EKA BHMOB @ | 29 | X 29 | £ |51%H 29 | H 29 | Kk 2%FEARAIE | 29 | £ BA B 1R
30 | A |#&# 30 | K 30 | £ [RBREIKR 30 | A | K 30 | B |EKB
31| K [3I3%HB 31 | X |5I%A 31| & |515%8

MERFHHE: T H=1400~22:00, £ =13:00~21:00 XBE-REBXRNARTT (EIDHMHENADGENHYFEY) XEHIFEEDHBHLAAFTY

XER LS BIE. v —F2E, &1 -2(F5Lk4E, I—J1RHYET . FEE(F2BRATE TICHLAADNBETY,




10H 11H 12H 18 A 3H

CF 3 -3 CF 3 =3 FE =3 FE =3 FE o3 FE o3
1| A TR 1| K 1| £ 1| Xk |EHKE [ 1| & 1| & YA
2 | R |BREAOT* | KA 2 | £ 2 | B |KXEFK 2 | Kk |EAKB 2 | £ BeiEs 2 |
3| K TR 3 | £ [1-2-PiARR |xXitdE @ | 3 | A ®BHOT 3 | KN |EHH 3 | B |[EHB 3 | B [KBEE#K
4 | K 4 | B |EKRB (B 4 | K ®BHOT 4 | & 4 | B 4 | B
5| & 5 | A 5 | K BT 5 | £ 5 | K 5| X A fEFR
6 | £ BEARAER | 6 | K 6 | K [1-2KEE |RHOT 6 | B 6 | K 6 | K HERIRRER
7 | B 7 | Kk 7 | & [3FELHARALE|1-2GTEC 7 | B SFHRA | 7 | K 7| K ZEX
8 | A |1-2-PiA ||ABEDE ® | 8 | K 8 | £ 8 | X 8 | £ |B3I%B &l 8 | € [B51%H
9 | X 9 | & |B5I%H 9 | B [E#A 9 | X RADAH 9 | £ 9 | £
10 | X |B51%HB ||AENA 10| 10 | A |B51%H8 10 | K |B5I3%A 10 | B |EKH 10 | B [RBRER
1| K 11| B |E&HE " ® 1| £ 1| B [EKE gERSE @ | 11 | A 3 pn
12| £ 12| B 12 | K 12 | = 12 | & BIEEIRD | 12 | X BEOT
13| £ 13| X 13| K 13 | B 13 | K AIAERQ | 13 | K ®RHAGT
I e 1] 2 14 | B |tk RADE ® | 14| & EEE | 14| K |tRE S e
15 | A 15 | K 15 | = 15 | X 15 | & 15 | € |20194FEERtA
16 | X ®BHOT 16 | & 16 | B |EKA 16 | K 16 | £ 16 | =
17 | % ®BEOT 17| = e /N 17| A 17 | K 17 | B |EHKkE 17 | B |EkE
18| K ®BHOT 18 | B |EKRE = 18 | X 18 | £ 18 | A = o] 18 | A |#1EHER
19 | £ |BEOBR-H&|BHDT 19 | B (#EQTx| |IREAKE 19 | Kk 19 | = 2—0 | 19| X ATHAR &R 19 | X |FIERER
20 | = 1FEEEEE] 20 | X 20 | K 20 | H +5—Q | 20 | K 20 | 7k
21 | B |EHKA 21 | K 21 | & 21 | B wos—uy—F| 21 | K 21 | K |FEHAKR (FEH0l @
22 | R 22 | K 22 | 2FHART | 22 | KX FrLty | 22| € [T 22 | & rER
23 | K 23 | & |1-2-PIR#X | [ppmson @ | 23 | B |1.2521460m | Remse @ | 23 | K 23 | = 23 | £ |BHEE
24 | K 24 | o5—JL | 24 | A RE&AKA 24 | K 24 | B [ERAB 24 | H
25 | K 25 | B (RBR#K 25 | X oa—TJL| 25 | £ 25 | A 25 | A |FHO
26 | & 26 | A 26 | K 26 | £ 26 | K 26 | X
27 | £ 27 | K 27 | K 27 | B |®EA 27 | Xk ARSI 27 | K |BEHO
28 | B |EHKA 2 1EFRg| 28 | K 28 | £ |51%H 28 | H 28 | K [5I3%8 ®EAER 28 | K |51%&H8
29 | A 29 | K 29 | = 29 | X 29 | & |HHO
30 | K 30 | & [51%A 30 | B 30 | K 30 | £
31 | K |5I3%A =T E 31| A |EKHB 31 | K |5I3%H 31| H
KE XM A =1400~22:00, THE=13:00~21:00 XAE-REBTREAKLTTEIDHHENSADIGENHYET) XEHEIFEEOHBLAHFITT = %%ﬁ%/»ﬁ'&




